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R=1290m
V=120km/h; D=79mm; I=52mm; alfas=30,0207g; do=513,318m

n=10,02V; Lk=95,000m; A=350; m=0,291m; T=357,492m; klotoida

n=10,02V; Lk=95,000m; A=350; m=0,291m; T=357,492m; klotoida

R=16504m
V=120km/h; D=0mm; I=11mm; alfas=0,2627g; do=68,106m

n=0,00V; Lk=0,000m; T=34,053m;

n=0,00V; Lk=0,000m; T=34,053m;

R=18000m
V=120km/h; D=0mm; I=10mm; alfas=0,2385g; do=67,448m

n=0,00V; Lk=0,000m; T=33,724m;

n=0,00V; Lk=0,000m; T=33,724m;

R=11000m
V=120km/h; D=0mm; I=16mm; alfas=0,3704g; do=64,000m

n=0,00V; Lk=0,000m; T=32,000m;

n=0,00V; Lk=0,000m; T=32,000m;R=11000m
V=120km/h; D=0mm; I=16mm; alfas=0,3704g; do=64,000m

n=0,00V; Lk=0,000m; T=32,000m;

n=0,00V; Lk=0,000m; T=32,000m;

R=764,75m

V=110km/h; 
D=94mm; I=93mm; alfas=39

,5782g; do
=384,160m

n=8,83V; L
k=91,280m; A=264; m=0,454m; T=291,4

65m; klotoida

n=8,83V; L
k=91,280m; A=264; m=0,454m; T=291,4

65m; klotoida

R=800m

V=105k
m/h; D

=68mm; I=9
5mm; alf

as=23
,9733

g; do=
258,0

57m

n=9,2
4V; L

k=31,
400m; A=330;

 m=0,01
2m; T=

152,8
63m; mezileh

lá klo
toida

n=8,0
9V; L

k=55,
000m; A=210;

 m=0,15
8m; T=

179,5
35m; klo

toida

R=650mV=105km/h; D=102mm; I=99mm; alfas=25,5839g; do=204,516m

n=8,04V; Lk=82,000m; A=231; m=0,431m; T=172,406m; klotoida

n=9,24V; Lk=31,400m; A=330; m=0,012m; T=133,469m; mezilehlá klotoida

R=1294m
V=120km/h; D=79mm; I=52mm; alfas=30,0207g; do=515,058m

n=10,04V; Lk=95,147m; A=351; m=0,291m; T=358,526m; klotoida

n=10,04V; Lk=95,147m; A=351; m=0,291m; T=358,526m; klotoida

R=16500m
V=120km/h; D=0mm; I=11mm; alfas=0,2627g; do=68,090m

n=0,00V; Lk=0,000m; T=34,045m;

n=0,00V; Lk=0,000m; T=34,045m;

R=18004m
V=120km/h; D=0mm; I=10mm; alfas=0,2385g; do=67,463m

n=0,00V; Lk=0,000m; T=33,732m;

n=0,00V; Lk=0,000m; T=33,732m;

R=760m

V=110km/h; 
D=94mm; I=94mm; alfas=39

,5782g; do
=381,487m

n=8,80V; L
k=91,000m; A=263; m=0,454m; T=289,7

99m; klotoida

n=8,80V; L
k=91,000m; A=263; m=0,454m; T=289,7

99m; klotoida

R=804,
75m

V=105k
m/h; D

=68mm; I=9
4mm; alf

as=25
,0865

g; do=
271,2

90m

n=9,3
6V; Lk

=36,5
00m; A=325;

 m=0,01
9m; T=

161,0
53m; mezileh

lá klot
oida

n=8,1
1V; Lk

=55,1
56m; A=211;

 m=0,15
8m; T=

187,8
41m; klo

toida

R=630m
V=105km/h; D=107mm; I=100mm; alfas=24,4707g; do=180,913m

n=8,04V; Lk=86,000m; A=233; m=0,489m; T=164,430m; klotoida

n=9,36V; Lk=36,500m; A=325; m=0,019m; T=123,852m; mezilehlá klotoida

R=1138m
V=120km/h; D=90mm; I=60mm; alfas=26,8855g; d

o=369,337m

n=10,00V; Lk=108,00
0m; A=351; m=0,427m; T=298,152m; klotoida

n=10,60V; Lk=114,51
9m; A=361; m=0,480m; T=301,162m; klotoida

R=697m

V=120km/h; 
D=147mm; I=97mm; alfas=33

,1994g; do=
163,427m

n=10,60V; 
Lk=187,047

m; A=361; m=2,090m; T=281,2
47m; klotoida

n=12,08V; 
Lk=213,064

m; A=385; m=2,712m; T=291,9
00m; klotoida

R=1081
m

V=120k
m/h; D

=92mm; I=6
6mm; alf

as=18
,5399

g; do=
191,1

40m

n=12,
08V; 

Lk=13
3,346

m; A=380;
 m=0,68

5m; T=
224,6

51m; klo
toida

n=10,
33V; 

Lk=11
4,000

m; A=351;
 m=0,50

1m; T=
216,2

39m; klo
toida

R=1142m
V=120km/h; D=90mm; I=59mm; alfas=26,8887g; d

o=371,025m

n=10,02V; Lk=108,18
6m; A=351; m=0,427m; T=299,126m; klotoida

n=10,60V; Lk=114,44
8m; A=362; m=0,478m; T=302,019m; klotoida

R=693m

V=120km/h; 
D=147mm; I=98mm; alfas=33

,2024g; do=
161,872m

n=10,60V; 
Lk=186,932

m; A=360; m=2,100m; T=280,1
09m; klotoida

n=12,03V; 
Lk=212,182

m; A=383; m=2,705m; T=290,4
41m; klotoida

R=1085
m

V=120k
m/h; D

=93mm; I=6
4mm; alf

as=18
,5397

g; do=
191,7

43m

n=12,
03V; 

Lk=13
4,237

m; A=382;
 m=0,69

2m; T=
225,6

60m; klo
toida

n=10,
24V; 

Lk=11
4,225

m; A=352;
 m=0,50

1m; T=
216,9

59m; klo
toida
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Legenda :

významné stavební objekty

rekonstrukce koleje
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